Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32AALFC3813E1ZX

BILL OF SOPPLY	CI	REDIT
PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY	Inv. No.	13134
PALAI, CHOONDACHERRY.P O. PALAI GSTIN:	Date:	21/03/2023

FAIN - MALI	C3813E, G31IN - 32AALFC3813E1ZX	AD.AIII/LID/53/22-23 (CIV	IL ENGINEERING)	Date 02/	03/2023			DUPLIC	CATE
Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1 BUILDING MATERI	ALS 2ED 56407 - 409	VARGHESE	PHI LEARNING	3	295.00 R	885.00	26.00	230.10	654.90
Bank Details:HDI	FC Bank, Branch: Majestic Centre, Bye	pass Road, Kozhikode.		3	BOOM FROM	885.00		230.10	654.90
A/c No.50200071	185217, IFSC:HDFC0001255				Less Discount	1			0.00
					Less To Round	d			0.00
Rupees Six Hundre	ed and Fifty Five Only				Grand Total	al			655.00

Page 1 of 1

Conversion Rates Dlr: 85.90, Eur: 92.50, Pnd: 104.20

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Calicut Jurisdiction only. * E. & O. E.

HSN Code:49011010

the Good Office Committee.

For Caligut Book
CAL 2016

PIN - 613 016

Authorised Signator

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32AALFC3813E1ZX

BILL OF SUPPLY

PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY

PALAI.

CHOONDACHERRY.P O. PALAI GSTIN:

Ref AD.AIII/LID/53/22-23 (MECHANICAL)

Date 02/03/2023

.....

Inv. No. 13133

Date: 21/03/2023

DUPLICATE

CREDIT

Srl	Title	Author	Publisher		Qty	Rate	Total	Dis%	Dis Val	Value
1	ENGINEERING MATERIALS 43ED 564/0 - 412	RANGWALA	CHAROTAR		3	250.00 R	750.00	20.00	150.00	600.00
2	PRODUCTION TECHNOLOGY 2 VOL SET 564/3 - 422	JAIN	KHANNA		5	899.00 R	4,495.00	15.00	674.25	3.820.75
Dan	le Detaile-HDEC Deal, December 1 C	D 1 27 1 11 1		-	0	2.3	504500		00105	

Page 1 of 1

Bank Details: HDFC Bank, Branch: Majestic Centre, Byepass Road, Kozhikode. A/c No.50200071185217, IFSC: HDFC0001255

Rupees Four Thousand Four Hundred and Twenty One Only

5,245.00 824.25 4,420.75
Less Discount 0.00
Less To Round 0.00

Grand Total 4,421.00

Conversion Rates DIr: 85.90, Eur: 92.50, Pnd: 104.20

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010

For Calicus Book

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32AALFC3813E1ZX

BILL OF SEPPLY

PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY

PALAI.

CHOONDACHERRY.P O. PALAI GSTIN:

Ref AD.AIII/LID/53/22-23 (COMPUTER SCIENCE)

Date 02-03-2023

14

HSN Code:49011010

.. 1 42422

CREDIT

DUPLICATE

Inv. No. 13132

Date: 21/03/2023

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	DATA MINING: PRACTICAL MACHINE LEARNING TOOLS AND TECHNIQUES 4ED 56423 - 24	WITTEN -	ELSEVIER	2	700.00 R	1,400.00	26.00	364.00	1,036.00
2	INTRODUCING DATA SCIENCE 56425 - 27	CIELEN	DREAMTECH	3	799.00 R	2,397.00	25.00	599.25	1,797.75
3	DATA MINING AND MACHINE LEARNING : FUNDAMENTAL CONCEPTS AND ALGORITHMS 2ED	ZAKI 56428	CAMBRIDGE	1	57.99 P	6,042.56	35.00	2,114.90	3,927.66
4	FUNDAMENTALS OF PYTHON 2ED 56429 - 433	LAMBERT	CENGAGE	5	549.00 R	2,745.00	22.00	603.90	2,141.10
5	THINK PYTHON 2ED 56434 -36	DOWNEY	SHROFF	3	525.00 R	1,575.00	20.00	315.00	1,260.00

Page 1 of 1

Bank Details:HDFC Bank, Branch:Majestic Centre, Byepass Road, Kozhikode. A/c No.50200071185217, IFSC:HDFC0001255

Rupees Ten Thousand One Hundred and Sixty Three Only

14,159.56 3,997.05 10,162.51
Less Discount 0.00
Less To Round 0.00
Grand Total 10.163.00

Conversion Rates DIr: 85.90, Eur: 92.50, Pnd: 104.20

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certified that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Calicut Jurisdiction only. * F & O. E.

For DalicutBooks

Opp.Govt.Mental Health Centre, PO. Kuthiravattom, Calicut - 673016 , Tel: 0495 2740321, 9747580707 info@calicutbooks.com www.calicutbooks.com

PAN - AALFC3813E, GSTIN - 32AALFC3813E1ZX

BILL OF S

PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY

PALAI,

CHOONDACHERRY.P O. PALAI

GSTIN:

Inv. No. 13131

CREDIT

TRIPLICATE

Date:

21/03/2023

Ref	AD.AIII/LID/53/22-23	(SCIENCE & HUMANITIES)	Date	02/03/2023
-----	----------------------	------------------------	------	------------

Srl	Title	Author	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
4	QUANTITATIVE TECHNIQUES IN MANAGEMENT 6ED 56437 - 441	VOHRA .	MCGRAW HILL	5	875.00 R	4,375.00	28.00	1,225,00	3,150.00
	OPERATIONS RESEARCH 7ED 56442-446	GUPTA	S. CHAND	5	730.00 R	3,650.00	26.00	949.00	2,701.00
	PROBABILITY AND STATISTICS FOR ENGINEERING AND THE SCIENCES 9ED 56447 - 451	DEVORE	CENGAGE	5	750.00 R	3,750.00	22.00	825.00	2,925.00
	RESEARCH METHODOLOGY 4ED 56452	KOTHARI	NEW AGE	1	399.00 R	399.00	22.00	87.78	311.22
	RESEARCH METHODOLOGY 4ED 56453 - 456	KOTHARI	NEW AGE	4	399.00 R	1,596.00		351,12	1,244.88
	STATISTICS FOR MANAGEMENT 8ED 56457-458	LEVIN	PEARSON	2	900.00 R	1,800.00	28.00	504.00	1,296.00
	INTRODUCTION TO WORK STUDY 3RED 56459 - 461	ILO	OXFORD & IBH	3	525.00 R	1,575.00	100000	441.00	1,134.00
	MOTION AND TIME STUDY 9ED 56469 - 464	NIEBEL	MCGRAW HILL	3	1295.00 R	3,885.00	28.00	1,087.80	2,797.20
Donl	Detaile UDEC Deals Describ Maintin Control D			20		21 020 00		E 170 70	15 550 30

Page 1 of 1

Bank Details: HDFC Bank, Branch: Majestic Centre, Byepass Road, Kozhikode. A/c No.50200071185217, IFSC:HDFC0001255

Rupees Fifteen Thousand Five Hundred and Fifty Nine Only

21,030.00 5,470.70 15,559.30 Less Discount 0.00 Less To Round 0.00 **Grand Total** 15,559.00

Conversion Rates DIr: 85.90, Eur: 92.50, Pnd: 104.20

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

HSN Code:49011010

othorised Signator



Tel: 08589923939 Mail: kottayam@cosmobooks.in

GSTIN: 32AADCC9587A1ZS CST: I.T. PAN: AADCC9587A

BILL OF SUPPLY

THE PRINCIPAL, ST. JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY PALAI

Inv. No. K1285

Date:

20/03/2023

CREDIT

CHOONDACHERRY P.O.

PALAI

Ref AllI/LID/52/22-23 DATED 02.03.2023

ECE

ORIGINAL

ISBN	Author	Title	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
9789390113347	ANNAPURNA DAS	MICROWAVE ENGINEERING 56339	MCGRAW HILL	1	760.00 R	760.00	27.00	205.20	554.80
9789388991087	POZAR	MICROWAVE ENGINEERING 56340 - 42	WLEY	3	869.00 R	2,607.00	23.00	599.61	2,007.39
9789388991087	POZAR ·	MICROWAVE ENGINEERING 56343	WILEY	1	869.00 R	869.00	23.00	199.87	669.13
9780521704168	ANDREA GOLDSMITH	WIRELESS COMMUNICATION 56344	CAMBRIDGE	1	995.00 R	995.00	27.00	268.65	726.35
9780521687492	DAVID TSE	FUNDAMENTALS OF WIRELESS COMMUNICATION 56345	CAMBRIDGE	1	1195.00 R	1,195.00	27.00	322.65	872.35
9788131724262	JOCHEN SCHILLER	MOBILE COMMUNICATIONS 2ED 56346 - 48	PEARSON-	3	915.00 R	2,745.00	27.00	741.15	2,003.85
9788132211082	STUBER G L	PRINCIPLES OF MOBILE COMMUNICATION PB 56359	SPRINGER *	1	89.99 E	8,324.08	31.00	2,580.46	5,743.61
9788126538836	TAFAZOILI	TECHNOLOGIES FOR THE WIRELESS FUTU WIRELESS WORLD	WILEY*	1	4995.00 R	4,995.00	18.00	899.10	4,095.90
	9789390113347 9789388991087 9789388991087 9780521704168 9780521687492 9788131724262 9788132211082	9789390113347 ANNAPURNA DAS 9789388991087 POZAR 9789388991087 POZAR 9780521704168 ANDREA GOLDSMITH 9780521687492 DAVID TSE 9788131724262 JOCHEN SCHILLER 9788132211082 STUBER G L	9789390113347 ANNAPURNA DAS MICROWAVE ENGINEERING 56339 9789388991087 POZAR MICROWAVE ENGINEERING 56340 - 42 9789388991087 POZAR MICROWAVE ENGINEERING 56343 9780521704168 ANDREA GOLDSMITH WIRELESS COMMUNICATION 56344 9780521687492 DAVID TSE FUNDAMENTALS OF WIRELESS COMMUNICATION 56345 9788131724262 JOCHEN SCHILLER MOBILE COMMUNICATIONS 2ED 56346 - 48 9788132211082 STUBER G L PRINCIPLES OF MOBILE COMMUNICATION PB 56349	9789390113347 ANNAPURNA DAS MICROWAVE ENGINEERING 56339 MCGRAW HILL 9789388991087 POZAR MICROWAVE ENGINEERING 56340 - 42 WILEY 9789388991087 POZAR MICROWAVE ENGINEERING 56343 WILEY 9780521704168 ANDREA GOLDSMITH WIRELESS COMMUNICATION 56344 CAMBRIDGE 9780521687492 DAVID TSE FUNDAMENTALS OF WIRELESS COMMUNICATION 56345 CAMBRIDGE 9788131724262 JOCHEN SCHILLER MOBILE COMMUNICATIONS 2ED 56346 - 48 PEARSON 9788132211082 STUBER G L PRINCIPLES OF MOBILE COMMUNICATION PB 56349 SPRINGER*	9789390113347 ANNAPURNA DAS MICROWAVE ENGINEERING 56339 MCGRAW HILL 1 9789388991087 POZAR MICROWAVE ENGINEERING 56340 WILEY 3 9789388991087 POZAR MICROWAVE ENGINEERING 56343 WILEY 1 9780521704168 ANDREA GOLDSMITH WIRELESS COMMUNICATION 56344 CAMBRIDGE 1 9780521687492 DAVID TSE FUNDAMENTALS OF WIRELESS COMMUNICATION 56345 CAMBRIDGE 1 9788131724262 JOCHEN SCHILLER MOBILE COMMUNICATIONS 2ED 56346 - 48 PEARSON 3 9788132211082 STUBER G L PRINCIPLES OF MOBILE COMMUNICATION PB 56349 SPRINGER* 1	9789390113347 ANNAPURNA DAS MICROWAVE ENGINEERING 56339 MCGRAW HILL 1 760.00 R 9789388991087 POZAR MICROWAVE ENGINEERING 56340 - 42 WILEY 3 869.00 R 9789388991087 POZAR MICROWAVE ENGINEERING 56343 WILEY 1 869.00 R 9780521704168 ANDREA GOLDSMITH WIRELESS COMMUNICATION 56344 CAMBRIDGE 1 995.00 R 9780521687492 DAVID TSE FUNDAMENTALS OF WIRELESS COMMUNICATION 56345 CAMBRIDGE 1 1195.00 R 9788131724262 JOCHEN SCHILLER MOBILE COMMUNICATIONS 2ED 56346 - 48 PEARSON 3 915.00 R 9788132211082 STUBER G L PRINCIPLES OF MOBILE COMMUNICATION PB 56349 SPRINGER* 1 89.99 E	9789390113347 ANNAPURNA DAS MICROWAVE ENGINEERING 56339 MCGRAW HILL 1 760.00 R 760.00 9789388991087 POZAR MICROWAVE ENGINEERING 56340 - 42 WILEY 3 869.00 R 2,607.00 9789388991087 POZAR MICROWAVE ENGINEERING 56343 WILEY 1 869.00 R 869.00 9780521704168 ANDREA GOLDSMITH WIRELESS COMMUNICATION 56354 CAMBRIDGE 1 995.00 R 995.00 9780521687492 DAVID TSE FUNDAMENTALS OF WIRELESS COMMUNICATION 56345 CAMBRIDGE 1 1195.00 R 1,195.00 9788131724262 JOCHEN SCHILLER MOBILE COMMUNICATIONS 2ED 56346 - 48 PEARSON 3 915.00 R 2,745.00 9788132211082 STUBER G L PRINCIPLES OF MOBILE COMMUNICATION PB 56349 SPRINGER* 1 89.99 E 8,324.08	9789390113347 ANNAPURNA DAS MICROWAVE ENGINEERING 56339 MCGRAW HILL 1 760.00 R 760.00 27.00 9789388991087 POZAR MICROWAVE ENGINEERING 56340 - 42 WILEY 3 869.00 R 2,607.00 23.00 9789388991087 POZAR MICROWAVE ENGINEERING 56343 WILEY 1 869.00 R 869.00 23.00 9780521704168 ANDREA GOLDSMITH WIRELESS COMMUNICATION 56344 CAMBRIDGE 1 995.00 R 995.00 27.00 9780521687492 DAVID TSE FUNDAMENTALS OF WIRELESS COMMUNICATION 56345 CAMBRIDGE 1 1195.00 R 1,195.00 27.00 9788131724262 JOCHEN SCHILLER MOBILE COMMUNICATIONS 2ED 56346 - 48 PEARSON 3 915.00 R 2,745.00 27.00 9788132211082 STUBER G L PRINCIPLES OF MOBILE COMMUNICATION PB 56349 SPRINGER* 1 89.99 E 8,324.08 31.00	9789390113347 ANNAPURNA DAS MICROWAVE ENGINEERING 56339 MCGRAW HILL 1 760.00 R 760.00 27.00 205.20 9789388991087 POZAR MICROWAVE ENGINEERING 56340 - 42 WILEY 3 869.00 R 2,607.00 23.00 599.61 9789388991087 POZAR MICROWAVE ENGINEERING 56343 WILEY 1 869.00 R 869.00 23.00 199.87 9780521704168 ANDREA GOLDSMITH WIRELESS COMMUNICATION 56344 CAMBRIDGE 1 995.00 R 995.00 27.00 268.65 9780521687492 DAVID TSE FUNDAMENTALS OF WIRELESS COMMUNICATION 56345 CAMBRIDGE 1 1195.00 R 1,195.00 27.00 322.65 9788131724262 JOCHEN SCHILLER MOBILE COMMUNICATIONS 2ED 56346 - 48 PEARSON 3 915.00 R 2,745.00 27.00 741.15 9788132211082 STUBER G L PRINCIPLES OF MOBILE COMMUNICATION PB 56359 SPRINGER* 1 89.99 E 8,324.08 31.00 2,580.46

12

22,490.07

5,816.69

16.673.38 0.00

Less Discount

0.00

Less To Round Grand Total

16,673.00

Rupees Sixteen Thousand Six Hundred and Seventy Three Only

Bank Details: South Indian Bank, Main Branch Kottyam. A/C No.0037073000003008.

Conversion Rates Dlr: 85.90, Eur: 92.50, Pnd: 104.20

Page 1 of 1

For CosmoBooks India PLtd

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Trichur Jurisdiction only. * E. & O. E.



BILL OF SUPPLY

PALAI

CHOONDACHERRY P.O.

THE PRINCIPAL, ST. JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY PALAI

CREDIT

Inv. No. K1287

Date: 20/0

.....

20/03/2023

4,436.00

Kaniamkulam Building, Opp.CMS Industrial School, Chalukunnu, Kottayam -1,

Tel: 08589923939 Mail: kottayam@cosmobooks.in

GSTIN: 32AADCC9587A1ZS CST: I.T. PAN: AADCC9587A

Ref AIII/LID/52/22-23 DATED 02.03.2023

ME

Grand Total

ORIGINAL

Srl	ISBN	Author	Title 56351-355	Publisher	Qty	Rate	Total Dis	% Dis Val	Value
1	9788123923154	MAHADEVAN K	DESIGN DATA HANDBOOK FOR MECHANICAL ENGINEERS IN SI AND	CBS PUBLISHERS	5	495.00 R	2,475.00 27	00 668.25	1,806.75
2	9788192735504	PSG COLLEGE OF	PSG - DESIGN DATA DATA BOOK OF ENGINEERS 56356 - 60	KALAIKATHIR	5	465.00 R	2,325.00 15	00 348.75	1,976.25
3	9789353065881	BOLTON W	MECHATRONICS ELECTRONIC CONTROL SYSTEMS IN MECHANICAL	PEARSON 56351	1	895.00 R	895.00 27	00 241,65	653.35
				the state of the s	1 42/11		10000000	V. S. Electrical	

Page 1 of 1

5,695.00 1,258.65 4,436.35
Less Discount 0.00
Less To Round 0.00

Rupees Four Thousand Four Hundred and Thirty Six Only

Bank Details: South Indian Bank, Main Branch Kottyam. A/C No.0037073000003008.

Conversion Rates Dlr: 85.90, Eur: 92.50, Pnd: 104.20

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Trichur Jurisdiction only. * E. & O. E.

For CosmoBooks India PLtd



BILL OF SUPPLY

PALAI

CHOONDACHERRY P.O.

THE PRINCIPAL, ST. JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY PALAI

CREDIT

161,40

Inv. No. K1286

, 140. 101200

Date: 20/03/2023

Kaniamkulam Building, Opp.CMS Industrial School, Chalukunnu, Kottayam -1,

Tel: 08589923939 Mail: kottayam@cosmobooks.in

GSTIN: 32AADCC9587A1ZS CST: I.T. PAN: AADCC9587A

Ref AIII/LID/52/22-23 DATED 02.03.2023

EEE

ORIGINAL

Srl	ISBN	Author	Title	Publisher	Qty	Rate	Total Dis%	Dis Val	Value
1	SIBBOSITE	NAGRATH I J AND	CONTROL SYSTEMS ENGINEERING 56362-66	NEW AGE	5	699.00 R	3,495.00 23.0	803.85	2,691.15
2	9789332550162		MODERN CONTROL ENGINEERING 5ED 56367-71	PEARSON	5	850.00 R	4,250.00 27.0	1,147.50	3,102.50
3	9789332549681		DISCRETE TIME CONTROL SYSTEMS 56372 - 76	PEARSON	5	875.00 R	4,375.00 27.0	1,181.25	3,193.75
-					-		40 400 00	0.400.00	0.007.40

12,120.00 3,132.60 8,987.40

Less Discount 0.00

Less To Round 0.00

Grand Total 8,987.00

Rupees Eight Thousand Nine Hundred and Eighty Seven Only

Bank Details: South Indian Bank, Main Branch Kottyam. A/C No.0037073000003008.

Conversion Rates Dlr : 85.90, Eur : 92.50, Pnd : 104.20

Page 1 of 1

For CosmoBooks India PLtd

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certified that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Trichur Jurisdiction only. * E. & O. E.



Tel: 08589923939 Mail: kottayam@cosmobooks.in

GSTIN: 32AADCC9587A1ZS CST: I.T. PAN: AADCC9587A

BILL OF SUPPLY

THE PRINCIPAL: ST. JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY PALAI

Grand Total

CREDIT

Inv. No. K1283

Date: 20/03/2023

CHOONDACHERRY P.O

PALAL

Ref CIVIL

ORIGINAL

8,505.00

Srl	ISBN	Author	Title	V Salet Salet Salet	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	9789386650887	SEGUI	STEEL DESIGN. 56347-81	PORTE TO THE PARTY OF THE PARTY	CENGAGE LEARNING	5	899.00 R	4,495.00	27.00	1,213.65	3,281.35
2	9788174091208		The Control of the Co		KHANNA 56382 - 86	5	729.00 R	3,645.00	15.00	546.75	3,098.25
3	9788174092304	SANTHOSH KUMAR	ENVIRONMENTAL ENGINEERING VO		KHANNA 56387-89		699.00 R	2,097.00	15.00	314.55	1,782.45
4	9789385039058	RANGWALA	ESTIMATING COSTING AND VALUAT	TION TO THE TOTAL THE TOTAL TO THE TOTAL TOT	CHAROTAR 56390	1	470.00 R	470.00	27.00	126.90	343.10
1						5000				1 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	

10,707.00 2,201.85 8,505.15
Less Discount 0.00
Less To Round 0.00

Rupees Eight Thousand Five Hundred and Five Only

Bank Details: South Indian Bank, Main Branch Kottyam. A/C No.0037073000003008.

Conversion Rates Dlr : 85.90, Eur : 92.50, Pnd : 104.20

Page 1 of 1

For CosmoBooks India PLtd

Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Trichur Jurisdiction only. * E. & O. E.



Tel : 08589923939 Mail : kottavam@cosmobooks in

BILL OF SUPPLY

CREDIT

Inv. No. K1284

THE PRINCIPAL, ST. JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY PALAI CHOONDACHERRY P.O.

PALAI

Date:

CSE

20/03/2023

ORIGINAL

GS	TIN: 32AADCC9	587A1ZS CST:	I.T. PAN :AADCC9587A	
C-1	ICDNI	Author	Title	

Srl	ISBN	Author	Title	Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	9789356063570	RUSSELL	ARTIFICIAL INTELLIGENCE 4ED 56391 - 95	PEARSON	5	1000.00 R	5,000.00	27.00	1,350.00	3,650.00
2	9781107648906	AJAY D	DISTRIBUTED COMPUTING 56396	CAMBRIDGE	1	1095.00 R	1,095.00	27.00	295.65	799.35
3	9789332549807	ANDREW S	DISTRIBUTED SYSTEMS PRINCIPLES AND PARADIGMS 2 ED	PEARSON	5	860.00 R	4,300.00	27.00	1,161.00	3,139.00
1313			E4397	5(1.0)	44		10 205 00		2 200 05	7.500.05

Ref AllI/LID/52/22-23 DATED 02.03.2023

10,395.00

2,806.65 7,588.35

Less Discount

0.00

0.00

Less To Round Grand Total

7,588.00

Rupees Seven Thousand Five Hundred and Eighty Eight Only

Bank Details: South Indian Bank, Main Branch Kottyam. A/C No.0037073000003008.

Conversion Rates Dir: 85.90, Eur: 92.50, Pnd: 104.20

Page 1 of 1

For CosmoBooks India PLtd

* Certified that latest edition have been supplied and that they are not remindered titles.

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue. The conversion rate quoted is the latest as decided by the Good Office Committee.

* All disputes are subjected to Trichur Jurisdiction only. * E. & O. E.



Kaniamkulam Building, Opp.CMS Industrial School, Chalukunnu, Kottayam -1,

Tel: 08589923939 Mail: kottayam@cosmobooks.in

GSTIN: 32AADCC9587A1ZS CST: I.T. PAN: AADCC9587A

BILL OF SUPPLY

CHOONDACHERRY P.O.

PALAI

Inv. No. K1297

CREDIT

Date: 21

21/03/2023

Ref AIII/LID/52/22-23 DATED 02.03.2023

ME

THE PRINCIPAL, ST.JOSEPH'S COLLEGE OF ENGINEERING & TECHNOLOGY PALAI

ORIGINAL

Srl	ISBN	Author	Title		Publisher	Qty	Rate	Total	Dis%	Dis Val	Value
1	9789390177479	BHANDARI V B	DESIGN OF MACHINE ELEMENTS	56402-405	TATA MCGRAW HILL*	4	899.00 R	3,596.00	27.00	970.92	2,625.08
					The Control of the Co	4		3,596.00		970.92	2,625.08
				nerst.		0.4	Less Disco	unt			0.00
							Less To Ro	ound			0.00
Rup	ees Two Thouse	and Six Hundred	and Twenty Five Only				Grand T	otal			2,625.00

Bank Details: South Indian Bank, Main Branch Kottyam. A/C No.0037073000003008. IFSC:SIBL0000037.

Conversion Rates Dlr: 86.10, Eur: 92.50, Pnd: 104.20

Page 1 of 1

For CosmoBooks India PLtd

* Certfied that the price charged in the invoice is correct and is according to Publisher's catalogue.

* All disputes are subjected to Trichur Jurisdiction only.

* E. & O. E.

* Certified that latest edition have been supplied and that they are not remindered titles.



CARMEL INTERNATIONAL PUBLISHING HOUSE

COTTON HILL, TRIVANDRUM - 695 014, KERALA - INDIA Phone: 0471-2327253, cell: 09447037580; e-mail: ciph@md4.vsnl.net.in www.carmelpublications.com

To The Principal / Librarian BICET, Palai

No.	871 CASHBILL	Date	10/10/2022
Qty	Particulars	RATE Rs. Ps.	AMOUNT Rs. Ps.
1.	ചിദ്ദന്ത്ത്വ ഇന്ത്യമിച്ചെ മെള്ളസ്ത്വസമ്പ്രാണൾ	. ,	500 56303
	മസപ്പ് ക്രോസവ	1	190 56304
	Europolom comaly.	,	90 56305
4	do geldes sono	1	110 56306
5	Momento Comments		350 56307
			1240
		TOTAL	1050/_

Rupees Thousand Rifty

Director



(Original for Recipient)

PRINCIPAL SJCET - LIBRARY

KOTTAYAM, KERALA, 686579

St. Joseph's College Of Engineering &

Technology, Palai, Choondacherry

Sold By:

MEDIAMATICS

MEDIAMATICS, RIMJHIM HOUSE, 111 PATPARGANJ INDUSTRIAL ESTATE **DELHI, DELHI, 110092** IN

State/UT Code: 32

Billing Address:

PAN No: ADTPG7043B

GST Registration No: NotApplicable

Order Number: 402-3140284-0224352

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-1092

Invoice Details: DL-140153191-2223

Invoice Date: 22.04.2022

SI. No	II)Ascrintion	Unit Price	Qty	Net Amount	Tax Rate	Tax Type	Tax Amount	Total Amount
1	Cross - Cultural Management: Text and Cases 8120340094 (9788120340091)	₹260.00	l	₹260.00		IGST	₹0.00	₹260.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
TOTAL:							₹0.00	₹260.00

Amount in Words:

Two Hundred Sixty only

Order Date: 22.04.2022

For MEDIAMATICS:

Authorized Signatory



(Original for Recipient)

Sold By:

HOME CABLE VIDEO

* House no 2/14 , GF, Ansari road, Darya Ganj NEW DELHI, DELHI, 110002 IN Billing Address :

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

PAN No: AMKPJ9985H

Order Date: 22.04.2022

GST Registration No: NotApplicable

Order Number: 402-4210727-3385945

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-12667

Invoice Details: DL-502682805-2223

Invoice Date: 22.04.2022

SI. No	Description	Unit Price	Qty	Net Amount		Tax Type		Total Amount
1	Artificial Intelligence for Business: What You Need to Know About Machine Learning and Neural Networks (Pearson Business Analytics Series) 0136556612 (9780136556619_UKP)	₹2,209.00	1	₹2,209.00	ο%	IGST	₹0.00	₹2,209.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
2	Al for People and Business: A Framework for Better Human Experiences and Business Success 1492036579 (9781492036579 UKP)	₹3,011.00	1	₹3,011.00	ο%	IGST	₹0.00	₹3,011.00
	,				ο%	IGST	₹0.00	
					ο%	None	₹0.00	
TO	TAL:		₹0.00	₹5,220.00				

Amount in Words:

Five Thousand Two Hundred Twenty only

For HOME CABLE VIDEO:

C 1000

Authorized Signatory



(Original for Recipient)

Sold By:

Atlantic Publishers and Distributors Pvt Ltd

* DE-155, GROUND FLOOR, TAGORE GARDEN
NEW DELHI, DELHI, 110027
IN

PAN No: AAFCA7265H

Order Date: 22.04.2022

GST Registration No: 07AAFCA7265H1ZK

Order Number: 402-4231882-8441115

Billing Address:

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-5422

Invoice Details : DL-134184641-2223

Invoice Date: 22.04.2022

SI. No	Description	Unit Price	Qty	Net Amount			Tax Amount	Total Amount
1	Artificial Intelligence for Business: A Modern Business Approach (2 Books in 1: Artificial Intelligence and Machine Learning for Business & Artificial Intelligence Business Applications) 1693303086 (9781693303081_IN)	₹2,100.00	1	₹2,100.00	ο%	IGST	₹0.00	₹2,100.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹30.00		₹30.00	ο%	IGST	₹0.00	₹30.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
2	Artificial Intelligence and Machine Learning for Business: A No-Nonsense Guide to Data Driven Technologies 1999730305 (9781999730307_IN)	₹1,662.00	1	₹1,662.00	0%	IGST	₹0.00	₹1,662.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹30.00		₹30.00	ο%	IGST	₹0.00	₹30.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
ТО	TAL:		₹0.00	₹3,822.00				

Amount in Words:

Three Thousand Eight Hundred Twenty-two only



(Original for Recipient)

Sold By:

Bombay Books

* 3, Humjoli, B.M Bhargava Road,, 3, Humjoli, B.M Bhargava Road, MUMBAI, MAHARASHTRA, 400054 IN

State/UT Code: 32

PRINCIPAL SJCET - LIBRARY

KOTTAYAM, KERALA, 686579

St. Joseph's College Of Engineering &

Technology, Palai, Choondacherry

Billing Address:

PAN No: AGRPK9049G

GST Registration No: NotApplicable

Order Number: 402-5362396-7535504

Order Date: 22.04.2022

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-2

Invoice Details: MH-138438031-2223

Invoice Date: 22.04.2022

SI. No	Description	Unit Price	Qty	Net Amount	Tax Rate		Tax Amount	Total Amount
1	Managing Across Cultures: The 7 Keys to Doing Business with a Global Mindset 0071605851 (PA-0TMR-VSKJ) HSN:49019900	₹2,695.00	1	₹2,695.00	0%	IGST	₹0.00	₹2,695.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹65.00		₹65.00	ο%	IGST	₹0.00	₹65.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
TOTAL:								¥(

TOTAL: ₹0.00 ₹2,760.00

Amount in Words:

Two Thousand Seven Hundred Sixty only

For Bombay Books:

Authorized Signatory



(Original for Recipient)

Sold By:

viplove bansal

* Shop no 1, near bansal motor transport, bathinda road SUNAM, PUNJAB, 148028

IN

PAN No: BECPB6362P

Order Date: 22.04.2022

GST Registration No: 03BECPB6362P1ZH

Order Number: 402-7000413-6287510

Billing Address:

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

INI

State/UT Code: 32

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-314

Invoice Details: PB-507112605-2223

Invoice Date: 22.04.2022

SI. No	II lescription	Unit Price	Qty	Net Amount	Tax Rate	Tax Type	Tax Amount	Total Amount
	Customer Relationship Management: Emerging Concepts, Tools and Applications 0070435049 (customerrelationship) HSN:4901	₹440.00			I			₹440.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹36.06		₹36.06	ο%	IGST	₹0.00	₹36.06
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
TOTAL:								₹476.06

Amount in Words:

Four Hundred Seventy-six Point Zero Six only

For viplove bansal:

1 Sucha

Authorized Signatory



(Original for Recipient)

Sold By:

Swami E-Com

* A-303,Parth Aaprtment,Plot
no-66,sector-35,Kamothe
Navi mumbai, MAHARASHTRA, 410206
IN

Billing Address:

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

PAN No: AKZPA3838R

Order Date: 22.04.2022

GST Registration No: NotApplicable

Order Number: 402-8157213-8430743

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number : IN-145

Invoice Details: MH-1506377065-2223

Invoice Date: 22.04.2022

SI. No	Description	Unit Price	Qty	Net Amount	Tax Rate	Tax Type	Tax Amount	Total Amount
1	New Perspectives in Rural & Agricultural Marketing 8179920852 (C7-GMQS-RIRO) HSN:4901	₹350.00		₹350.00		IGST	₹0.00	₹350.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹110.00		₹110.00	ο%	IGST	₹0.00	₹110.00
					0%	IGST	₹0.00	
					ο%	None	₹0.00	
TOTAL:							₹0.00	₹460.00

Amount in Words:

Four Hundred Sixty only

For Swami E-Com:

E Horsonal

Authorized Signatory



(Original for Recipient)

Sold By:

* ERGODE TRADING PRIVATE LIMITED

* ERGODE TRADING PRIVATE LIMITED, FLOOR
NO.10 AMRUT TOWER, SAROJINI NAIDU
ROAD, MULUND
Mumbai, MAHARASHTRA, 400080

Billing Address :

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

PAN No: AAECE2258D

Order Date: 22.04.2022

GST Registration No: NotApplicable

Order Number: 402-8870248-2498702

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-1597

Invoice Details: MH-136019591-2223

Invoice Date: 22.04.2022

SI. No		Unit Price	Qty			Tax Type		Total Amount
1	Social Media Marketing: The Ultimate Guide to Learn Step-by-Step the Best Social Media Strategies to Boost Your Business (Social Media Marketing 2018, Digital Marketing, Marketing) 1720615810 (DADAX1720615810)	₹1,799.12	1	₹1,799.12	ο%	IGST	₹0.00	₹1,799.12
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
2	Financial Statement Analysis and Valuation 1618530097 (DADAX1618530097) HSN:4901	₹3,960.65	1	₹3,960.65	ο%	IGST	₹0.00	₹3,960.65
					0%	IGST	₹0.00	
					ο%	None	₹0.00	
TO	TOTAL:							₹5,759.77

Amount in Words:

Five Thousand Seven Hundred Fifty-nine Point Seven Seven only

For ERGODE TRADING PRIVATE LIMITED:

Authorized Signatory



(Original for Recipient)

Sold By:

Atlantic Publishers and Distributors Pvt Ltd

* DE-155, GROUND FLOOR, TAGORE GARDEN
NEW DELHI, DELHI, 110027
IN

PAN No: AAFCA7265H

Order Date: 06.06.2022

GST Registration No: 07AAFCA7265H1ZK

Order Number: 403-8213273-9882756

Billing Address:

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-16163

Invoice Details: DL-134184641-2223

Invoice Date: 06.06.2022

SI. No	Description	Unit Price	Qty	Net Amount	Tax Rate			Total Amount
1	Artificial Intelligence and Machine Learning for Business: A No-Nonsense Guide to Data Driven Technologies 1999730305 (9781999730307_IN)	₹1,671.00	1	₹1,671.00	0%	IGST	₹0.00	₹1,671.00
					ο%	IGST	₹0.00	
					0%	None	₹0.00	
	Shipping Charges	₹30.00		₹30.00			₹0.00	₹30.00
							₹0.00	
					ο%	None	₹0.00	
2	Artificial Intelligence for Business: A Modern Business Approach (2 Books in 1: Artificial Intelligence and Machine Learning for Business & Artificial Intelligence Business Applications) 1693303086 (9781693303081_IN)	₹2,109.00	1	₹2,109.00	0%	IGST	₹0.00	₹2,109.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹30.00		₹30.00	ο%	IGST	₹0.00	₹30.00
					0%	IGST	₹0.00	
					0%	None	₹0.00	
TOTAL:								₹3,840.00

Amount in Words:

Three Thousand Eight Hundred Forty only



(Original for Recipient)

PRINCIPAL SJCET - LIBRARY

KOTTAYAM, KERALA, 686579

St. Joseph's College Of Engineering &

Technology, Palai, Choondacherry

Billing Address:

State/UT Code: 32

Sold By:

KLAMP ECOMMERCE

B/57, Shanti Industrial Estate, Tambe Nagar, Mulund West. MUMBAI, MAHARASHTRA, 400080 IN

PAN No: AAUFK8597Q

GST Registration No: 27AAUFK8597Q1ZR

Order Number: 403-0203482-1701134

FSSAI License No.

Order Date: 24.06.2022

21518052000166

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-4822

Invoice Details: MH-1017028045-2223

Invoice Date: 24.06.2022

SI. No	Description	Unit Price	Qty	Net Amount	Tax Rate			Total Amount
1	The Economist: Business Consulting: A Guide to How it Works and How to Make it Work 1861977026 (GKL-1861977026)	₹4,865.00	1	₹4,865.00	ο%	IGST	₹0.00	₹4,865.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
TOTAL:								₹4,865.00

Amount in Words:

Four Thousand Eight Hundred Sixty-five only

For KLAMP ECOMMERCE:

Authorized Signatory



(Original for Recipient)

PRINCIPAL SJCET - LIBRARY

St. Joseph's College Of Engineering &

Technology, Palai, Choondacherry

Sold By:

HOME CABLE VIDEO

* House no 2/14 , GF, Ansari road, Darya Ganj NEW DELHI, DELHI, 110002 IN

KOTTAYAM, KERALA, 686579

State/UT Code: 32

Billing Address:

PAN No: AMKPJ9985H

Order Date: 16.09.2022

GST Registration No: NotApplicable

Order Number: 403-4325905-9510765

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-107856

Invoice Details: DL-502682805-2223

Invoice Date: 16.09.2022

SI. No	Description	Unit Price	Qty	Net Amount	Tax Rate			Total Amount
1	Machine Learning: A Probabilistic Perspective (Adaptive	₹8,429.00			0%	IGST	₹0.00	₹8,429.00
					ο%	IGST	₹0.00	
					0%	None	₹0.00	
TOTAL:							₹0.00	₹8,429.00

Amount in Words:

Eight Thousand Four Hundred Twenty-nine only

For HOME CABLE VIDEO:

Authorized Signatory



(Original for Recipient)

Sold By:

Peacock Books

* DE-155, GROUND FLOOR, TAGORE GARDEN
NEW DELHI, DELHI, 110027
IN

Billing Address:

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

PAN No: AJGPK5884P

Order Date: 16.09.2022

GST Registration No: NotApplicable

Order Number: 403-5571253-7437965

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-35355

Invoice Details: DL-146619221-2223

Invoice Date: 16.09.2022

SI. No	Description	Unit Price	Qty	Net Amount		Tax Type		Total Amount
1	Bioinformatics and Computational Biology: A Primer for Biologists 9811642400 (9789811642401_GBP) HSN:49011010	₹6,896.00	1	₹6,896.00	0%	IGST	₹0.00	₹6,896.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹40.00		₹40.00	ο%	IGST	₹0.00	₹40.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
TOTAL -							₹0.00	₹6 026 00

Amount in Words:

Six Thousand Nine Hundred Thirty-six only

For Peacock Books:

AR.

Authorized Signatory



(Original for Recipient)

Sold By:

Repro Books Limited

* Khasra no 1319,22,172,911 , Village Malpura, Tehsil, Dharuhera, District Rewari, Pin code , Haryana Rewari, Haryana, 123110

PAN No: AAECR4557N

Order Date: 16.09.2022

GST Registration No: 06AAECR4557N3ZU

Order Number: 403-9428055-0187518

Billing Address:

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

INI

State/UT Code: 32

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: XNRF-348973

Invoice Details: HR-XNRF-176059511-2223

Invoice Date: 16.09.2022

SI. No	Description	Unit Price	Discount	Qty	Net Amount				Total Amount
1	Fundamentals of Data Science 1138336181 (RKC2001882728) HSN:49011010	₹11,982.00	₹0.00	1	₹11,982.00	ο%	IGST	₹0.00	₹11,982.00
						ο%	IGST	₹0.00	
						ο%	None	₹0.00	
	Shipping Charges	₹40.00	-₹40.00		₹0.00	ο%	IGST	₹0.00	₹0.00
						ο%	IGST	₹0.00	
						ο%	None	₹0.00	

TOTAL: \$\)\{\bar{10.00}\}\{\bar{11,982.00}\}

Amount in Words:

Eleven Thousand Nine Hundred Eighty-two only

For Repro Books Limited:

1 states

Authorized Signatory



(Original for Recipient)

Sold By:

HOME CABLE VIDEO

* House no 2/14 , GF, Ansari road, Darya Ganj NEW DELHI, DELHI, 110002 IN **Billing Address:**

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

PAN No: AMKPJ9985H

Order Date: 03.02.2023

GST Registration No: NotApplicable

Order Number: 403-7716530-4746710

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-195404

Invoice Details: DL-502682805-2223

Invoice Date: 03.02.2023

SI. No	Description	Unit Price	Qty		Tax Rate	Tax Type		Total Amount
1	R in a Nutshell 2e: A Desktop Quick Reference 144931208X (9781449312084_UKP)	₹3,555.00		₹3,555.00		IGST	₹0.00	₹3,555.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹20.00		₹20.00	ο%	IGST	₹0.00	₹20.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	

Amount in Words:

Three Thousand Five Hundred Seventy-five only

For HOME CABLE VIDEO:

Authorized Signatory



(Original for Recipient)

Sold By:

Imperial books

* # pattegarpalya main road, opposite to neminath jewellers, near navkar medicals BENGALURU, KARNATAKA, 560079 IN

Billing Address:

Sibin Sebastian (Librarian)
St.Joseph's College of engineering and
Technology, Palai, Choondacherry
KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

PAN No: BXAPN6576L

Order Date: 04.02.2023

GST Registration No: NotApplicable

Order Number: 403-1252568-7819525

Shipping Address:

Sibin Sebastian (Librarian)
PRINCIPAL SJCET - LIBRARY
St. Joseph's College Of Engineering &
Technology, Palai, Choondacherry
KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-10682

Invoice Details: KA-2116968315-2223

Invoice Date: 04.02.2023

SI. No	Unit Price	Qty	Net Amount	Tax Rate	Tax Type	Tax Amount	Total Amount
loT Fundamentals Networking Technologies, Protocols, an Cases for the Internet of Things First Edition By Pearson 9386873745 (NY-7PHL-F85O) HSN:4901	d Use						₹500.00
Shipping Charges	₹80.00		₹80.00	0% 0% 0%	None IGST IGST	₹0.00 ₹0.00 ₹0.00 ₹0.00	₹80.00

TOTAL: ₹0.00 ₹580.00

Amount in Words:

Five Hundred Eighty only

For Imperial books:

Authorized Signatory



(Original for Recipient)

Sold By:

Ishwar Books

* Ane Books Pvt Ltd, 4821, Parwana Bhawan, 24, Ansari Road, Darya Ganj NEW DELHI, DELHI, 110002 IN **Billing Address:**

Sibin Sebastian (Librarian)
St.Joseph's College of engineering and
Technology, Palai, Choondacherry
KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

PAN No: AALPK8921B

Order Date: 23.03.2023

GST Registration No: NotApplicable

Order Number: 407-0141920-5887535

Shipping Address:

Sibin Sebastian (Librarian)
Sibin Sebastian (Librarian)
St.Joseph's College of engineering and
Technology, Palai, Choondacherry
KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-633

Invoice Details: DL-414655635-2223

Invoice Date: 23.03.2023

SI. No	II Jescrintion	Unit Price	Qty	Net Amount	Tax Rate	Tax Type	Tax Amount	Total Amount
	Management of Technology and Innovation 8180521877 (9788180521874-172)	₹248.00		₹248.00		IGST	₹0.00	₹248.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
	Shipping Charges	₹60.00		₹60.00	ο%	IGST	₹0.00	₹60.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	

Amount in Words:

Three Hundred Eight only

For Ishwar Books:

3 by repoor

Authorized Signatory



(Original for Recipient)

Sold By:

Click N Ship

* 801, BPS Aastha, Devidayal Road, Mulund West Mumbai, MAHARASHTRA, 400080

IN

Billing Address:

PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

PAN No: BWDPG7402A

Order Date: 22.04.2022

GST Registration No: NotApplicable

Order Number: 402-2955586-6174730

Shipping Address:

PRINCIPAL SJCET - LIBRARY PRINCIPAL SJCET - LIBRARY St. Joseph's College Of Engineering & Technology, Palai, Choondacherry KOTTAYAM, KERALA, 686579

IN

State/UT Code: 32

Place of supply: KERALA Place of delivery: KERALA

Invoice Number: IN-51

Invoice Details: MH-1884060335-2223

Invoice Date: 22.04.2022

SI. No	Description	Unit Price	Qty	Net Amount		Tax Type		Total Amount
1	The Economist: Business Consulting: A Guide to How it Works and How to Make it Work 1861977026 (CNS-1861977026)	₹4,863.00	1	₹4,863.00	0%	IGST	₹0.00	₹4,863.00
					ο%	IGST	₹0.00	
					ο%	None	₹0.00	
TOTAL:							₹0.00	₹4 862 00

Amount in Words:

Four Thousand Eight Hundred Sixty-three only

For Click N Ship:

4

Authorized Signatory

FUTURA BOOKS

BILL OF SUPPLY

33/2200A2, Opposite St. George Church, Vayanasala, Perandoor Road, Elamakkara P.O., Kochi - 682026, Phone: 98464 62393 / 8848886188, E-mail: futurabooks@gmail.com

THE PRINCIPAL ST. JOSEPHS COLLEGE OF ENGINEERING AND TECHNOLOGY CHOONDACHERRY POST, PALAI KUTTAYAM

PIN - 686579

AD.AIII/LID/54/22-23 DT. 02.03.2023

MI 313

DATE 29/03/2023

AUTHOR		OTV (· DOTET	GROSS DISC	NETT PUB
HOROWITZ	FUNDAMENTALS OF DATA STRUCTURES IN C	:=====================================		or take price in the party filter state come come other other come come come come come come come come	AND STORE COME STEEL WARM AND LAND SHOT STEEL EXCELL FROM COME COME COME COME COME COME COME CO
ELMASRI	DATABASE SYSTEMS			3975.00 20.50	3160.13 ORL
DEVORE	PROBABILITY AND STATISTICS FOR ENGINEERING AND THE SCIENCES.	3 8		2397.00 10.50	2145.32 PEA
KOTHARI	RESEARCH METHODOLOGY	3 F		2250.00 22.50	1743.75 CEG
BARCLAY	RESEARCH METHODOLOGY	5 F	399.00	1995.00 22.50	1546.13 NEW
EVANS	OBJECT ORIENTED DESIGN WITH UML AND JAVA	3 F	499.00	1497.00 10.50	1339,82 ELS
LIPSCHUTZ	JAVA IN A NUTSHELL	3 F	1450.00	4350.00 10.50	3893.25 SPD
BRASS	DATA STRUCTURES WITH C SOS	1 F	1299.00	1299.00 25.50	967.76 TMH
SIERRA	ADVANCED DATA STRUCTURES	2 F	895.00	1790.00 12.50	1566.25 CAM
TREMBLAY	HEAD FIRST JAVA	3 F	1200.00	3600.00 10.50	3222.00 SPD
	INTRODUCTION TO DATA STRUCTURES WITH APPLICATIONS	3 F	1099.00	3297.00 25.50	2456.27 TMH
CHAUDHURI CHAUDHURI	COMPUTER ORGANIZATION AND DESIGN	3 F	595.00	1785.00 15.50	1508.33 PHI
	COMPUTER ORGANIZATION AND DESIGN	2 8	450.00	900.00 15.50	760.50 PHI
DHAMDHERE	OPERATING SYSTEMS	5 R	899.00	4495.00 10.50	4023.03 TMH
PATTERSON	COMPUTER ORGANIZATION AND DESIGN	5 R	800.00	4000.00 12.50	3500.00 ELS
RAJARAMAN	COMPUTER ORGANIZATION AND ARCHITECTURE	1 R	750.00	750.00 15.50	633.75 PHI
ROSS	INTRODUCTION TO PROBABILITY AND STATISTICS FOR ENGINEERS AND	3 R	799.00	2397.00 12.50	2097.38 ELS
VEERARAJ AN	PROBABILITY STATISTICS AND RANDOM PROCESSES	5 R	799.00	3995.00 10.50	3575.53 TMH
GIVONE	DIGITAL PRINCIPLES AND DESIGN	2 R		2198.00 25.50	
NUTT	OPERATING SYSTEMS	2 R			1637.51 TMH
		,time PT	707:00	1878.00 25.50	1399.11 PEA

TOTAL 41175.00

FORTY ONE THOUSAND ONE HUNDRED AND SEVENTY FIVE ONLY

Certified that the prices charges in this invoice are correct and according to the publisher's current price list

FEDERAL BANK LTD., ELAMAKKARA BRANCH, A/c No. 19490200002295, IFSC: FDRL0001949 PRINTED READING EDUCATIONAL BOOKS ARE EXEMPTED FORM GST HSN CODE 4901

FOR PUTURA BOOKS